o ab alnighe ndh It STfey 1 ofepTTOT
s fedip:
(—4)° +10= (—4)? +6=

(-1)> -8= 5-8=

2’ -8= 6> —10 =

7 +(-2) = 8 —1=

7 —(-7) = 1°-8=

(—10)° +(-2) = 5-(-1)=

10° +(-2) = 40— (=5)=

52 +10= (=7 —(-3) =

(-3)" —4= 6" —(—4) =

& +(-6) = 4 —(—4) =
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s fediep. R
(—4)> + 10 = (—54) (—4)* +6 =22
1) =8=(-7) 5-8=(-3)
2°-8=0 6> —10 = 26
7%+ (=2) = 47 8 —1=511
7 —(=7) =350 1> —8=(-7)
(—10)* + (—2) = (—1002) 5-(-D=6
10° + (-2) = 998 4 —(-5)=6
52 +10=135 (—7)* —(-3) =52
(3’ —4=(3) 6" —(—4)=40
4 +(—6) = 58 4 —(—4)=20
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